| Geometry Chapter 8 Performance Task [SHOW ALL WORK AND BOX YOUR ANSWERS
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2 I. The dashed line is a line of symmetry. Calculate x.
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B 3 2. The perimeter of a regular polygon is 63 feet. An exterior angle of the polygon
measures 40°. Calculate the length of each side. — -
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3. Part of a regular n-gon is covered up so that all you
'3 _ can see is shown at right. What is n?
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L( 5. What is the circumference of the circle. The inscribed polygon is regular.
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4. A cloverleaf table is the @Wim four semi-

circles extended on each side, as shown at right. If the
diagonal of the square is 10 feet, find the length of trim that
would be needed to decorate the edge of this cloverleaf
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BONUS: In the figure at right, circles ¥ and R are congruent with a radius of 10 inc e
m ZORK =60°. Calculate the area of the shaded region. 5 &
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